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1.  Using the formula, the area of a square would be �EMBED Equation.3��� square units.


Geometrically, you are finding the area of a square with side length of 2 (twice radius), and an


area of  4 square units.


2.  Using the formula, the area of a hexagon would be �EMBED Equation.3��� square units.


Geometrically, you are finding the area of a hexagon which is made up of 6 equilateral triangles �EMBED Equation.3��� units on a side and area of �EMBED Equation.3��� square units, so the area of the hexagon is �EMBED Equation.3��� square units.


3.  Letting n=10,000,000 and using the formula, the area would be �EMBED Equation.3���square units.


Geometrically, the area of a unit circle is �EMBED Equation.3���, or 3.1416.
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